Pertes, en Watt, induites par les coupleurs

3,700 7,100 | 14,200 21,200 | 28,900
Zmatch Il Asym 0,4 2 1,4 1,5 3
Zmatch Il Sym 0,7 1,5 2 1,5 0
Zmatch ATFS 1,5 1,3 0,5 1,3 2,2
Transmatch 0,2 1,7 1,5 0,7 0,8
Asym T 0,5 0,5 0,5 0,5 1
Flt 12 0,7 0,5 2 1,8 3
Flt 10 0,2 0,5 1,5 1,5 1,5
Flt 84 1 2 2 2 2
S-Match 0,5 1 1,5 1 3,5
Coupleur Auto 0 0 0 0,8 2,5

Pertes en Watt, pour 10W en entrée
3,700 7,100 14,200 21,200 28,900
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3,700 7,100 14,200 21,200 28,900
———Zmatch Il Sym 0,7 1,5 2 1,5 0
Zmatch ATFS 1,5 1,3 0,5 1,3 2,2
Transmatch 0,2 1,7 1,5 0,7 0,8
———7match Il Asym 0,4 2 1,4 1,5 3




